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163 * 8,000 = 123 1,536
EAZ HQEE 2202E HAK A=
550& 1,000 550
EA2 2RIYE Ot0IE &2
550& « 1,000 550
SERS 119
KESRUZ 4303 * 258 * 68 65
MSIAE 6,000& = 3%A + 33 54
st=2E= M 28 3alt| 150,000& * 13l 150




fAM: 2=
A BU=TE
& 230z At (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
SST A2 23 300,000& = 13l 300
SSEAMZEE XN AE 23l
200,000& = 13l 200
En=lg=Reilll 50,000& = 13l 50
F3tx A 300,000& = 13l 300
H=X FAH 200,000& = 23| 400
SHAMH(HAZE 2 SYS2D)
200,000% 13l 200
SYI HIIY 248
200,000& = 104 = 13l 200
— 3 U= FEAH 10,986
MR 10,986
®I 23 6,370& * 77Kw » 128 5,886
MABRS 85% * 5,000Kw » 12& 5,100
OA&ZEHl s Xl 89,350
—EA2 A2 2 A4 X2
450,000& = 12& 5,400
—EAZ AHAZH 9
1,800,000& * 12&8 21,600
— SYHAFH SAE
35,000,000& * 14 35,000
—d&X s |FAE U 70,0008 * 123 840
— CCTV =X 2 ==l 91,000& = 123 1,092
—s2J, &g, I K224
250,000& = 123 3,000
— AN2ENHH AL HA & =22
100,000& * 20CH 2,000
—SH2 BE Ea 2,500& = 720m’ 1,800
-GS Y EA 2,500& « 1,119m’ 2,798
— SN2 =Z+ MFAY 33,0008 * 40= 1,320
—SA2 HxE & 33
1,500,000 * 33l 4,500
— SN2 =2 2=dl 10,000,000& * 14| 10,000
202 04l 4,100 5,400 A 1,300
01 2ol bl 4,100 5,400 A 1,300
OEAM2 28 Z2Fd 4,100,000& 4,100
308 XX EHSOIA 50,000 50,000 0
08 WEII20HetE = 50,000 0 50,000
OsHESSEAHA2 =2+ X2
50,000,000& 50,000
405 XHoHF S HI 262,500 55,500 207,000
01 XY 2 S FH S| 207,000 0 207,000
OEAM2 BEAHMD Ols4 MO Y
9,000,000& =« 14 9,000




EX: S3Hs
HzM: S sIE
e 23tz MY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
O BEAAY LS &Y WH
122,000,000 * 14! 122,000
OEAME RFID =& Z&H| WA
76,000,000 * 14! 76,000
02 = A 7| 55,500 55,500 0
OEM& A 2 49,500
—YNENB SN 7Y 15,0008 * 3,000 45,000
— 250 Y= HETHB A PY
15,0008 = 300& 4,500
Oz 2 3,000,000 = 12X 3,000
Owe pvD # ¢ 30,000& = 100&+ 3,000
23N 24 10,000 15,600 A5,600
= 5,000
= 5,000
201 et | 2,000 2,000 0]
< 1,000
= 1,000
03 HAI2 HHI 2,000 2,000 0
O= A EHE (BOOK-START) AFH
2,000,000& * 1JHA 2,000
= 1,000
= 1,000
405 XH&HF S HI 8,000 13,600 A5,600
= 4,000
= 4,000
02 = AR 8,000 13,600 A5,600
OB A &N 2 8,000,000& 8,000
& 4,000
= 4,000
AMNENZ SAHESS A 11,470 8,470 3,000
201 B9 10,000 7,000 3,000
03 A2 I 10,000 7,000 3,000
OEM& =2t 1,500,000 = 13| 1,500
O KA 1,250,000& * 23| 2,500
OsMde ¢ 3,000,000 = 13| 3,000
OEA3 10Z=4 A} 3,000,000& = 13 3,000
301 et M= 1,470 1,470 0]
09 HAIAHI X & 2 1,470 1,470 0
OEM& T2 ZHUHA AdlEA
7,000& * 210 1,470
AT HE SAEE 2 2,000 3,000 A1,000
201 et 9| 2,000 3,000 A 1,000
03 Al Y| 2,000 3,000 A 1,000
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A BU=TE
& 230z At (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OSAEHE (BOOK-START) 25
2,000,000& = 13l 2,000
ZotRoEE2L 5,570,050 4,158,782 1,411,268
= 1,041,680
J| 93,424
< 659,745
s 3,775,201
FotritEE2te| 5,570,050 4,158,782 1,411,268
= 1,041,680
J| 93,424
< 659,745
[ia 3,775,201
=22 1,464,571 868, 194 596,377
101 1A bl 31,029 43,418 212,389
M4 II2HHZ22NSES 31,029 43,418 A 12,389
OX&E =232 el 31,029
— 23t & 22l 73,2803 * 1H x 245¢ 17,954
—M=xZ 73,2803 * 2H » 30 4,397
— =g 144,4803 * 29 » 20 5,780
—BE= 28,131,000& = 0.103 2,898
201 £B-2dH| 101,942 95,516 6,426
01 At 22l 54,750 43,950 10,800
Oget==EH| 35,550
— 23 FE2el 5,250
HEzXgsg 428 2
500,000& = 73l 3,500
230 7 35,000& = 5004 1,750
— XM HIAEEH =3
2,500,000& 2,500
—FTRELESM 2HALEH =2
120,000& = 15004 « 128 21,600
— 23t NEM4 =524l 2,000,000& 2,000
—Z3M #FEHE 225 7Y
250,000& = 12& 3,000
—=Zc M &ESAE StEY R FHEH
100,000& = 12& 1,200
ogxtz 10,800
— M ANEEZE N LR
900,000& * 10H = 12& 10,800
o234 8,400
— MR E A
70,000& = 3% = 403 8,400
02 8323l 47,192 51,566 AN4,374
Oz22= & HA 18,391
—&ga89 A 2e| 5,491,000& 5,491
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fAM: 2=
My 2guEERL
Hel: BERMAEE 2L (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— =3l S §S4E tF2e
4,374,000 4,374
—=8cl N &S4E sEa 22l
2,939,000 2,939
—AMNDIL R B Z2DE 2L
2,689,000 2,689
—wWEY &8s D=2 CCTvatel 698,000 698
— &M oY X2 1,070,000 1,070
— Sl 2e(ASEINNSA)
1,130,000& 1,130
OAIE ZHI S X 16,931
— 2} MFH HE=8 WFHI LY
5,991,000& 5,991
—A%d JIAHY & 02fasEH RELEY
940,000& 940
— 23 =8 AIEE E=
2,000,000& = 53l 10,000
OXtE & Byl 11,870
— M 2L =2 2 FRFRUH
8,000,000& 8,000
—Z3M && 2e8 I =al
1,000,000 1,000
— 23 ANLEEZE I FFU
1,640% = 74 = 250 2,870
202 44l 4,100 5,760 A 1,660
01 = LH YI 4,100 5,760 A 1,660
O=23M&egR =& 4,100,000& 4,100
203 R =&t 500 500 0
03 Al F=XH R =AY 500 500 0
Ozstizelgse =2 100,000 * 53| 500
301 LA F 5,000 5,000 0
12 JIEtEA 3 5,000 5,000 0
OAnE AL ZA &Ead XA
500,000& * 103l 5,000
401 AIEHI L 2 CHYI 562,000 418,000 144,000
01 A& HI 562,000 418,000 144,000
OMEZstM 2e+=5 HE 40,000,000 40,000
O&EEAE RANE=> 20,000,000& 20,000
O=stl & &l 30,000,000& 30,000
OHIXIE =23t M &bl 30,000, 000& 30,000
OHIXNEZ2SM(2SE M) =8 IS4
Fal= 160,000, 000& 160,000
OSEANX BLL=ZA 100,000, 000& 100,000
OF2d & 2= 20,000,000& 20,000




EX: S3Hs
My 2guEERL
CHe: S3RAEE22| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFEYE - A S22 LB HH|
30,000,000 30,000
OgaEdEX s 8 AI2X AL
22,000, 0008 22,000
O=2ed SMAIE &X 110,000,000 110,000
402 SI2v X0l & 760,000 300,000 460,000
01 It E AL E X (M) 760,000 300,000 460,000
OZEAN 2F2 HEY 362,000,000 362,000
OBStAL 2288 M= 298,000,000& 298,000
OEHY 2dF2 &H ZBA 100,000,000 100,000
ZIIXNER2 M & SEL2M ELFH(2#E s 300,000 300,000 0
S8s N2 o=22)
= 210,000
& 45,000
= 45,000
401 AlEHI 2 2 0HY| 300,000 300,000 0
= 210,000
&< 45,000
= 45,000
01 Al&H| 300,000 300,000 0
OHYE s N2 lx L AMAE AIY
100,000,000 100,000
= 70,000
& 15,000
= 15,000
OFE £8S 12T S WX L AHAET A
& 100,000,000 100,000
= 70,000
& 15,000
= 15,000
O&g =F2 S 454HE S 0 L %A
I A 100,000,000 100,000
= 70,000
= 15,000
= 15,000
ZIIXNEL2 M 2 S22 B:FH (&G 150,000 0 150,000
DEY SHE D22 DE=AL)
= 105,000
= 22,500
= 22,500
401 Al HI L 204 HI 150,000 0 150,000
= 105,000
o= 22,500
= 22,500
01 Al&H| 150,000 0 150,000
OFHYE st s8s N2 1= & &8
150,000,000 150,000
= 105,000
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My 2guEERL
o9l 2RRAMZER (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 22,500
s 22,500
SIRNE 23 & SE23AM E+-JH NA(FHE 150,000 0 150,000
sl 88 DEZ EXNONY)
= 105,000
< 22,500
s 22,500
401 AIEHI L 2 CHYI 150,000 0 150,000
= 105,000
< 22,500
s 22,500
01 A& HI 150,000 0 150,000
OF¥YE sl s 122 2} M72E EX
0 & 150,000, 000& 150,000
= 105,000
= 22,500
s 22,500
SN2 M & SES2SM E+FU NA(2E 200,000 0 200,000
S0tSE Z2XTAH)
= 140,000
< 30,000
s 30,000
401 Al HIZ 201 I 200,000 0 200,000
= 140,000
< 30,000
s 30,000
01 A& Bl 200,000 0 200,000
OFY Z0tetd g3 XA 200,000, 000& 200,000
= 140,000
< 30,000
[ia 30,000
SN2 & SEST2S M E+FH NA(2E 20,000 0 20,000
S0t&A AT AL
= 14,000
< 3,000
s 3,000
401 Al HI K 201 I 20,000 0 20,000
= 14,000
< 3,000
s 3,000
01 A& HI 20,000 0 20,000
OFY Z0tatd Al I A} 20,000,000& 20,000
= 14,000
< 3,000
[ia 3,000
ZIXNE 23 L S22 B3 NA(#E 250,000 0 250,000
Sheas aaEx)
= 175,000
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x
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O
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Z oM =t
FZoFAEE 2
F o AEE 2 )
SN BA(SA) - MRAY - BES il HImEET
O¥d stNeg 2 MM aidZ+
160,000, 000& 160,000
= 80,000
s 80,000
OFY M2l 4Z2H 252 L =8 Fy
50,000,000& 50,000
< 25,000
s 25,000
402 RI2FX=201 A 240,000 0 240,000
< 120,000
s 120,000
02 QI EAIS EZ (OIS ) 240,000 0 240,000
OFE FEAM SXZOI0IEtSENHNZE = 1
=g &l 240,000, 000& 240,000
< 120,000
fia 120,000
HSAE ETHAAE 25 102,000 0 102,000
= 51,000
< 25,500
s 25,500
402 QI2H X201 M 102,000 0 102,000
= 51,000
< 25,500
fia 25,500
02 QI EAISEZ (01X THS) 102,000 0 102,000
ONSAE(=8Y) YMAIAE 2=
102,000, 000& 102,000
= 51,000
< 25,500
s 25,500
HdEAME SMHALAE RIAES 54,000 37,200 16,800
= 27,000
< 8,100
s 18,900
201 £B-2dH| 54,000 37,200 16,800
= 27,000
< 8,100
s 18,900
01 At 22l 54,000 37,200 16,800
OXSAME (=L AL HB A AEA, 3=
S AEANFEEZNG)EHALE SIS
HEA 54,000,000& 54,000
= 27,000
= 8,100
[ia 18,900
SHIH CHLHE FHI 36,100 0 36,100
= 12,770
< 8,165
[ 15,165
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900
2,100

20,000

1,480
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e
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toir fon fon
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>z A
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o
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5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 | 22,000 0 22,000
OFEYE YA LIE0| St=g249 22,000,000 22,000
401 Al HI L £ 0HHI 50,000 50,000 0
01 Al& H| 50,000 50,000 0
OJIOFR A ME2S I A 50,000,000 50,000
JIOFDNEF MAHAKASH X 257,750 259,000 AN 1,250
201 et 61,750 3,000 58,750
01 A2t 2| bl 11,750 3,000 8,750
Ogbt4=24| 10,000
—HHSA S 218 )83 M
10,000,000 10,000
o294 1,750
—HISIJI0F MEsty =2 HetA HILR
EE = 250,000& = 7H 1,750
03 A2 HH| 50,000 0 50,000
OHASKA ST I8 D2 8243
50,000,000 50,000
207 I & 40,000 50,000 A 10,000
01 A& | 40,000 50,000 A 10,000
ObBIgJI0F MEsty T2 2 NIjfeg o
249 40,000,000 40,000
308 MXISHMSOIA 156,000 176,000 A 20,000
07 MHXSHH2AESZ 156,000 176,000 A 20,000
OJIotDE2 HMAHASRA S 22
156,000,000 156,000
IIOF2SHH XN9Yd AEZEEol3 10,000 15,000 A5,000
201 et2 Y| 10,000 15,000 A5,000
02 Z2=2=24%94| 10,000 10,000 0
O2232=2 % HA 10,000
— JIO25td 8§98 A2 242
10,000,000& 10,000
HIXIR25HH FA T 200,000 100,000 100,000
o=} 80,000
= 120,000
401 Al HI L 2 0HHI 200,000 100,000 100,000
= 80,000
= 120,000
01 Al& H| 200,000 100,000 100,000
OFRE AN 22 XA} 200,000,000& 200,000
& 80,000
= 120,000
gE2 29 592,741 736,614 N 143,873
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101 14 Hl 125,694
04 JIZHHZ22XREES 125,694
ozggsa gzael 26,206
—Jlzs 73,2803 * 18 = 245¢ 17,954
—SS522f2+Y 73,280 « 1¥ » 52 3,811
— 28z 21,764,160& * 0.103 2,242
—EAZ 73,2803 * 19H » 30 2,199
O 8 L MAIHWH 39,851
—Jlz2s 73,2803 * 28 » 180¢ 26,381
—S=5L2f+Y 73,280 2% » 68Y 9,967
—E8= 34,003,000& * 0.103 3,503
odsa Algdzae] 26,206
—JlEs 73,2803 * 18 = 245¢ 17,954
—S=S522f2+Y 73,280 « 1¥ » 52 3,811
— 28z 21,764,160& * 0.103 2,242
—EAZ 73,2803 * 19H » 30 2,199
OtHlSclHETAIZ &d2el 26,206
—Jlas 73,2803 * 198 = 245¢ 17,954
—S=5L2f=Y 73,280 + 1€ x 52 3,811
—E8= 21,764,160& * 0.103 2,242
= = 73,2803 * 198 » 30 2,199
Og&X2&AH & ZH
144,481& » 5% » 102 7,225
201 Let24E| 345,717
01 At 22l 118,942
Oget=&H| 104,492
—gsa 70,072
st=aet=2 3l 300,000& =13l 300
Z2ggs2 g3l 400,000& x13] 400
HdAESEE M 3,000& = 3,0000H 9,000
-2 MNH 400& * 10,0000H 4,000
A tE B 2,500,000 2,500
HEEZI WE 2 HidHel 2L
500,000& x13] 500
d=J o= 34,000 = 3CH » 12& 1,224
A2l A28 7Y S
2,000,000& = 23| 4,000
=& g2gs) 2 FY
30,000& = 404 = 23l 240
ROAUIAIAE 2AY|
400,000& = 123 4,800
LYANYE HEEIUH ==
200,000& = 12& 2,400
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Hoss &M 2 E&Hc
11,000, 000& 14! 11,000
dot=ER=s & FIx HAH|
3,000,000& 3,000
-HMIIea 19,917
¥ 22 (USE)
5,230& = 95kw » 12 5,963
#ABR(DSE)
96.90& = 12,000kw » 12& 13,954
—HZe WEFAZ 11,708
dotr=Ee=s & FIx FHAH|
1,500,000 1,500
I3 10,208
¥ 22 (Re8)
5,230& = 70kw » 128 4,394
XAEZ(RE8)
96.90& = 5,000kw * 12& 5,814
— FAOIE M Al 2 2,234
-8IIes ¥ dotx=E 23 2,234,000& 2,234
O =l 467
—FEYES2 Hagd) de2Yy
467,000& 467
OA&EHl s Xl 56,500
—gsa 42,700
M2 SX2eltl 10,000, 000& 10,000
ogolgisa sX2= 3,000,000& 3,000
- HAIA 2 AIRA HEE A
5,000,000& 5,000
=2l & 2gR 2 300,000 300
Ol=21 & JIH |A2eltl
200,000& =« 404 800
g2asll sX224 500,000& * 404 2,000
ANAENHA EA 100,000& * 360H 3,600
SAFH RAE =4 500,000& =« 8CH 4,000
gEa s =83 A4l
1,000,000 =« 23l 2,000
- 8AIE 0™ ZXIb
6,000,000& * 242 12,000
— M G2 6,200
- AMES S22 3,000,000& 3,000
SAIA E ARA HHEE A
1,500,000& * 13| 1,500
g2esll X84l 500,000& * 1C4 500
- A A 100,000& * 120K 1,200
—HlScl IHSHEA2 4,600
- ANES A2 1,000, 000& 1,000
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fAM: 2=
My 2guEERL
o9l 2RRAMZER (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 42,910
s 18,390
101 @144 dl 61,300 61,300 0
= 42,910
s 18,390
04 JIZHHZ2XREES 61,300 61,300 0
Ozgeasa A2 B3t AHZ
30,650,000& * 2H 61,300
= 42,910
e 18,390
Hsgs 2 Ald2el 24,212,902 16,770,454 7,442,448
s 1,460,000
J| 3,582,482
< 1,185,276
fia 17,985,144
H=sgs N 5,290,920 4,875,292 415,628
J| 382,482
= 15,276
i 4,893,162
MESSEA OHE 2 XA 526,300 527,480 A 1,180
201 £B-2d| 9,000 9,000 0
01 At 22l 4,000 4,000 0
O el 4,000
—AEZX0HE S22 A
2,000,000& * 23 4,000
03 &Ar2 I 5,000 5,000 0
OAZ=0HE & dXEH | XN
5,000,000& 5,000
202 044l 5,100 6,480 A1,380
01 = LH o4 1l 5,100 6,480 A 1,380
OMS&EA Wzl XI& 5,100,000& 5,100
203 YR =] 3,200 3,000 200
03 AIBZ=XH =AY 3,200 3,000 200
AEH=HE I 160,000& * 203l 3,200
307 glz2tol & 509,000 509,000 0
04 DI2HHALALSE E X 499,000 499,000 0
OZddZeM=susa &It 220,000,000& * 13 220,000
OFLEZOHSHI 2464 22
150,000,000& * 13 150,000
ozdgdaNsl=d ot
100,000,000& * 13 100,000
OENEZ dZUsl &It 4,000,0008 * 123 4,000
O&= &t Mstal &It 15,000, 000& 15,000
OdEN=s S=Eal ot 10,000, 000& 10,000
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
06 283 10,000 10,000 0
OMsUa HFtd=> M2
5,000,000& = 23| 10,000
HsHH X 216,000 216,000 0
307 glz2tol & 208,000 208,000 0
02 It M AHE L 8,000 8,000 0
OFYBHRET YFCSH 2L N
8,000,000& = 13l 8,000
03 BIAHMNHE2IHIEL 200,000 200,000 0
og=zd=s XA 150,000,000& * 13 150,000
Oo¥g=zZeIM=s XA
50,000,000 = 13l 50,000
405 RHoHE S HI 8,000 8,000 0
01 AL EFSFH S 8,000 8,000 0
o¥dgzi=ss =5+Y N&
7,000,000& = 14 7,000
OZEZHHANSS SETL
1,000,000& * 14 1,000
SUR S8 293,000 278,000 15,000
307 glz2tol & 293,000 278,000 15,000
02 It M AHEE 293,000 278,000 15,000
o3Ue 84 XA 36,000,000& 36,000
O&FE=z R&E% 4 A& 40,000,000& 40,000
OFEz 47 54 N& 45,000,000& 45,000
O&FE2 f449 s=72uw4 A& 12,000,000 12,000
Oz =724 & 70,000,000& 70,000
O=stn A2x=2¢g K& 10,000, 000& 10,000
OnsEs =724 J& 80,000,000& 80,000
ot MEFH SIS X(2SXH) 244,437 185,328 59,109
J| 89,392
s 155,045
307 glz2tol & 244,437 185,328 59,109
J| 89,392
s 155,045
02 It M AHE X 244,437 185,328 59,109
Oger MEXsXET A BRI XI&
178,783,000& 178,783
J| 89,392
fia 89,391
Ot MEHSXEX Xl JIEt= X
65,654,000 65,654
Hzd MEMSXEX HXI(2SKA) 291,743 219,816 71,927
J| 104,291




SH: 2o
Y HSHES L AL

?4?: Msgs Nd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 187,452
307 glz2tol & 291,743 219,816 71,927
J| 104,291
s 187,452
02 It M AHE X 291,743 219,816 71,927
OnZ4A MEMSAEX HHX K&
208,580,000 208,580
J| 104,291
e 104,289
O024a MEMSXEX Xl JIE2g XA
83,163,000& 83,163
ZONCIMER S XS X BHXI(Q124H]) 40,552 32,832 7,720
J| 14,899
s 25,653
307 glz2tol & 40,552 32,832 7,720
J| 14,899
s 25,653
02 It HAHE X 40,552 32,832 7,720
OZOQ MEMSAEZX HHIX K&
29,798,000 29,798
J| 14,899
e 14,899
OO MEMSKEX Xl JIEI>E XA
10,754,000& 10,754
dEds 2208 X2 7,300 9,792 A2,492
< 2,190
s 5,110
307 gl2tol & 7,300 9,792 A2,492
< 2,190
s 5,110
02 IZHE M AHE L 7,300 9,792 N2,492
Odeds=Zzd" 7,300,000& 7,300
< 2,190
[ia 5,110
MEH S WA 16,270 19,112 N2,842
< 3,381
e 12,889
307 glz2+0ol & 16,270 19,112 N2,842
< 3,381
e 12,889
02 YAFHAANGEEE 16,270 19,112 AN2,842
Odarsus 2 11,270,000& 11,270
< 3,381
s 7,889
OdeNsnd P25 7
5,000,000& = 13l 5,000

_32_




fAM: 2=
g Hsgs & Ad2a
?4?: Msgs Nd (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ZOHQ MEM=E XN 19,318 20,318 A 1,000
< 2,775
s 16,543
307 gl2tol & 19,318 20,318 A 1,000
< 2,775
s 16,543
02 It HAHE L 7,318 8,318 A 1,000
OXoHel XM=ES0tel XI& (X X ZoHel)
7,318,000 7,318
< 2,775
s 4,543
04 DIZHHALAISE E X 12,000 12,000 0
OZag: o MesdsUal &It
12,000, 000& 12,000
d=+42 H=sda |I € 52 N2 2,121,000 2,155,000 A 34,000
307 21201 A 2,121,000 2,155,000 A 34,000
02 It S AHE L 1,865,000 1,880,000 A 15,000
O&= nsstn =703 290,000, 000& 290,000
Of= HAxs2 d=& e 370,000,000 370,000
Od=Ix=SsW BHAZ U3l 200,000, 000& 200,000
Oz dY HAZ U3
190,000, 000& 190,000
OZgUenESH d=EHAE U3
15,000, 000& 15,000
Od= MEUS 180,000, 000& 180,000
O&= s1nsstn A=H3 40,000,000& 40,000
O&d= s F=Ua 30,000, 000& 30,000
Od= Ag 23 30,000,000& 30,000
OdIAHE WS 20,000,000& 20,000
OFEWC HA=SHE XA 500,000,000 500,000
04 DIZHHALALSE E X 256,000 275,000 A 19,000
O==x dl=d8 |RIXA 95,000, 000& 95,000
OHEZ Xl SXXA 33,000,000& 33,000
ORk Azl |RIXA 10,000, 000& 10,000
ONME dilzdE RN 13,000, 000& 13,000
OLH? M=Us |RIXA 90,000, 000& 90,000
Oweldl &7 2SN 15,000, 000& 15,000
FEZ MENSUHS 55,000 55,000 0
307 21201 A 55,000 55,000 0
04 QIZFHALAIH E = 55,000 55,000 0
O¥gEz dEN=sis 55,000,000& = 13l 55,000
=09 ¢ Jlg ZeM=sU3 197,000 197,000 0
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25 2
X XH -
(== B

el

for
=
=
1
>
09
©
0x
Jo

=
i

2

197,000

197,000

,000&

197,000
197,000

197,000

50,000

50,000

50,000

50,000

50,000,

000&

50,000
50,000

50,000

0z

120,000

120,000

120,000

120,000

OrctE tHal

120,000,000&

120,000

120,000

120,000

100,000

50,000

50,000

100,000

50,000

50,000

100,000,000&

>*
o

100,000
100,000

50,000

50,000

0%

14,000

14,000

14,000

14,000

14,000,000&

*
o

14,000

14,000

14,000

bl

HJ

15,000

15,000

15,000

15,000

15,000,000&

*
o

15,000
15,000

15,000

0%

14,000

14,000

14,000

14,000

>*
ol

14,000

14,000

14,000

0z

10,000

10,000

10,000

10,000

10,000,000&

*
o

10,000
10,000

10,000

0z

30,000

30,000

30,000

30,000

30,000

30,000
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fAM: 2=
g Hsgs & Ad2a
?4?: Msgs Nd (&)
= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oFgz=Jl &= gdz&Ual
30,000,000& * 13l 30,000
a2t 8§03 14,000 14,000 0
307 gl2tol & 14,000 14,000 0
04 DIZHHALALSE E X 14,000 14,000 0
OBER4H S50, 40 L= 703
14,000,000& * 13l 14,000
FEZt SZ3 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIR B & 10,000 10,000 0
oGzt =Z0i3 10,000,000& * 13l 10,000
FEZt BHE =3 14,000 14,000 0
307 gl2tol & 14,000 14,000 0
04 DIZHHALALSE E X 14,000 14,000 0
OFEZ=ti HAZU3 14,000,000& * 13l 14,000
FE 2L ¥=235¢e HUA HE 15,000 10,000 5,000
307 glz2+ol & 15,000 10,000 5,000
04 QIZFHALAIH 2 = 15,000 10,000 5,000
OFgetadtl 82552 HLAWHS
15,000,000& * 13l 15,000
FEZt DA2ESEU S 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DIZHHALAISE E X 15,000 15,000 0
OFgE=2=tl det=2Z03 15,000,000 15,000
FEEZ01 MAEINIZCHSE 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
04 QIZFHALAIH B = 30,000 30,000 0
OHEZ =t AAE IS 30,000,000 30,000
FEZEFEIIFI =203 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B & 10,000 10,000 0
SEEEE B LESIIE LI
10,000,000& * 13l 10,000
FEZH 22 Z0E 15,000 0 15,000
307 glz2+ol & 15,000 0 15,000
04 QIZFHALAIH B = 15,000 0 15,000
OFEz2=ti Ma==Hal 15,000, 000& 15,000
JFEAE A ZIIHa 80,000 80,000 0
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SN 2HHSD
g Hsgs & Ad2a
o9 HSEs Xe (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 80,000 80,000 0
04 DI2HHALALSE E X 80,000 80,000 0
OJEAY 22 20108 (14HSS)
80,000,000& 80,000
=R M=0al o= 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
OHILIAES &I tHal 4,000,000& 4,000
ONMOIEESEaHI Ha 5,000,000& 5,000
O=ZE3al &t thal 7,000,000& 7,000
O=7&3al &bl thal 5,000,000& 5,000
O=E3al &t thal 4,000,000& 4,000
OzZ=ti 2dUzg 7,000,000& 7,000
OdEN=s FlHe 2=Ua 5,000,000& 5,000
OoMax=s &al&Il sl 5,000,000& 5,000
OSHIE 2¢ 8,000,000 8,000
AXTAH0SH XA 77,000 46,494 30,506
J| 53,900
= 6,930
s 16,170
301 YEtE A2 77,000 46,494 30,506
J| 53,900
= 6,930
s 16,170
01 Ml28E 6= 77,000 46,494 30,506
OAxZz=2x08A XA 77,000,000& 77,000
J| 53,900
< 6,930
e 16,170
AR 29 580,000 0 580,000
J| 120,000
s 460,000
201 L4l 16,800 0 16,800
01 At 2t 2l 9,600 0 9,600
Oogxz 9,600
— 0 HEANE XE R
800,000& * 12043 9,600
02 =24l 7,200 0 7,200
O Xt & | 7,200
-850 S 600,000& = 12JH& 7,200
301 LEEA S 563,200 0 563,200
J| 120,000
e 443,200
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SH: 2o
Y HSHES L AL

&He: dM=gs I (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
VU=t - EESEAZ2 563,200 0 563,200
OWX NHEHE &89 563,200,000 563,200
J| 120,000
= 443,200
HEAE 22 18,921,982 11,895, 162 7,026,820
g 1,460,000
J| 3,200,000
= 1,170,000
= 13,091,982
MEY AL EX 1,109,749 611,732 498,017
101 @121 | 42,105 40,368 1,737
04 JIZtHI22XNSE S 42,105 40,368 1,737
ool =3 & 22 23,900
- Jl=22 73,2803 * 1¥H x 245Y 17,954
-SSR 73,2803 * 1 x 52 3,811
—4UEg=2 20,719,200& * 0.103 2,135
ORXNENEZ S SSHAIAE EHIIAMNY
144 4813 * 3Y * 72 % 63| 18,205
201 Bt 31,184 29,884 1,300
01 AP 22| H| 6,084 6,084 0
Ogbt4=24| 6,084
-0l H=Ea 2 1,548
201AHHl 94| 99,0008 * 12& 1,188
HAES & ¢ 72,0008 = 53| 360
— YN 1,548
2013 H 94| 99,0008 = 12& 1,188
HAE8 S el 72,0008 * 53] 360
— A2 A 1,548
201AHH 29| 99,0008 * 12& 1,188
HAEE & 7Y 72,0008 = 53] 360
—QZE2SE FEA 1,440
201A4Hl 249H| 120,000& = 12& 1,440
02 2324 25,100 23,800 1,300
O2322 % HA 25,100
— 0 H=RIH S(HIz, a2 5)
5,000,000& 5,000
—Hegsd2sa(dllg, &4+ 5)
1,500,000 1,500
— YN (2, AxE2 E)
7,000,000& 7,000
—GNZER(MIB, AEER 5)
4,600,000 4,600
— Y XNERE(FHIE, AxE2 E)
3,000,000& 3,000
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2N
X ZH -
L= B

el

Z M = ot
HEgs % A&2e
HSAE 22

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—gdaceteesny, Q2IESSsE A
4,000,000 4,000
202 (4] 4,460 6,480 N 2,020
01 2L Y] 4,460 6,480 N 2,020
OM=sAI&E=22] 4,460,000 4,460
401 Al HI L £ 0HHI 985,000 480,000 505,000
01 A& HI 985,000 480,000 505,000
O8H o2 23717 4xXl 200,000,000& 200,000
O8NMERE AAXXCI WA 60,000,000& 60,000
OomzasZTd Al JiH 650,000,000& 650,000
oolgiseas B 30,000,000& 30,000
ogx&es B4 15,000,000& 15,000
OB=2XEAHEZ B4 30,000,000& 30,000
405 XHoHF SHI 47,000 55,000 A 8,000
01 Mt = S F SHI 47,000 55,000 A 8,000
S2HAIE AIR4 &J] 2 5,000,000 5,000
ONM=EAAE 22l &C2I|] 2
21,000,000& = 204 42,000
24E MSAE A2+ 70,000 70,000 0
401 Al HI L 2 0HHI 70,000 70,000 0
01 A& HI 70,000 70,000 0
O8H 28 B3HSMEE RAES
5,000,000& * 1404 4~ 70,000
2EZ S3ANSAE 2l 3,992,233 3,103,430 888,803
403 ItXIHHSA201 A 3,992,233 3,103,430 888,803
02 3J2SH S =2 A 2 AL B 3,992,233 3,103,430 888,803
O33HEAE 32 2|
3,992,233,000& 3,992,233
SA=0XNSHE HE 900,000 4,635,000 A 3,735,000
Jl 700,000
T 200,000
401 Al Bl 20 HI 900,000 4,635,000 A 3,735,000
Il 700,000
T 200,000
01 A& HI 900,000 4,635,000 A 3,735,000
OgX=0MsHE A 900,000,000 900,000
Dl 700,000
& 200,000
SA=0XH=HE 22 510,000 0 510,000
201 et A | 10,000 0 10,000
03 SHAIS H I 10,000 0 10,000
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2N
X ZH -
L= B

el

Z M = ot
HEgs % A&2e
HSAE 22

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
gXIeMSHEH HEA 10,000, 000& 10,000
405 RHoHE S HI 500,000 0 500,000
01 AL EFSHSHI 500,000 0 500,000
O=g3d% s 837¢ 500,000,000 500,000
3 BHOH MSHH HE 2,900,000 1,915,000 985,000
J| 2,000,000
< 900,000
401 AIEHIZ 28I 2,900,000 1,915,000 985,000
| 2,000,000
< 900,000
01 A& Bl 2,900,000 1,900,000 1,000,000
OFGeUHIXN=sdH HE 2,900,000, 000& 2,900,000
| 2,000,000
< 900,000
FEBOHIMSHEH 22 250,000 0 250,000
201 L2l 10,000 0 10,000
03 A2 Z Hl 10,000 0 10,000
OFYGEHUHIM S HE JHEA 10,000, 000& 10,000
405 THobH S| 240,000 0 240,000
01 AL EFHSHI 240,000 0 240,000
OBCHINSHEH =257 240,000,000 240,000
JAIBNS2tdEH HE 4,570,000 260,000 4,310,000
J| 500,000
< 70,000
s 4,000,000
401 AIEHIZL 28I 4,570,000 260,000 4,310,000
J| 500,000
< 70,000
[ia 4,000,000
01 A& Bl 4,570,000 260,000 4,310,000
OguMIeUM=s2stdEH AHE  4,570,000,000 4,570,000
| 500,000
< 70,000
e 4,000,000
ESTZHEMESANLEXNA 1,700,000 1,300,000 400,000
s 680,000
e 1,020,000
401 Al&HI & 28I 1,700,000 1,300,000 400,000
s 680,000
s 1,020,000
01 A& HI 1,700,000 1,300,000 400,000
O¥gEE2sd 2+ 1,050,000, 000& 1,050,000
s 420,000
s 630,000
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SH: 2o
Y HSHES L AL

2 HMSAAE 22 (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OHegZBdssd A== 650,000,000 650,000
Fag 260,000
= 390,000
NEHSALENA(HYAZXOIT OFRE BXAA 1,950,000 0 1,950,000
az)
g 780,000
= 1,170,000
401 AlEHI 2L 201 Y| 1,950,000 0 1,950,000
= 780,000
= 1,170,000
01 Al&H| 1,950,000 0 1,950,000
OFGAZZMI 07 SENM 25
1,950,000,000& 1,950,000
g 780,000
= 1,170,000
He2Ldesd =X 230 =4 820,000 0 820,000
401 A& HI L 2 0HHI 820,000 0 820,000
01 Al&H| 820,000 0 820,000
OUgZB2e2sd =1 &0 =24
820,000,000& 820,000
HYEAIXOIE 22 150,000 0 150,000
401 Al HI L 2 0HHI 150,000 0 150,000
01 Al& H| 150,000 0 150,000
OHFGEALZLXNOD F=H A ALY
150,000, 000& 150,000
HEMSAAH (2SHHS D) 79,916 81,472 A 1,556
ol 2AH| (23S H) 7,140 11,940 A 4,800
ol =2y (23S 1) 7,140 11,940 A 4,800
204 &R 4 A H| 7,140 11,940 A 4,800
02 23 & X4 5,340 8,940 A 3,600
OFIAAE 5,340
—23¢ O] &t 155,000& * 1¥ = 128 1,860
— 234 0]¢et 145,000€ * 2% = 12&€ 3,480
03 EH3LRAH| 1,800 3,000 A 1,200
OFAF (W E=H|)
50,000 = 3¥H  12&€ 1,800
Jl2ddl(2stds ) 72,776 69,532 3,244
Jl2ddl (23S W) 72,776 69,532 3,244
201 2Et24Hy| 42,996 37,072 5,924
01 AP 22| d| 42,996 37,072 5,924
Ogt=2H| 12,000,000& 12,000
OF=1=1:] 30,996,000 30,996
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fAM: 2=
M HY2IAZH (2SS
€el: JI=23H(23 M=) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 23,000 25,800 A2,800
01 = LH 4 Hl 23,000 25,800 A 2,800
OJlege=d 50,000& = 309 » 12& 18,000
OF3gzz & 224 5,000,000 5,000
203 YR =&l 5,580 5,460 120
04 FEXNSEHE=LH| 5,580 5,460 120
OFRN2IYS =2 465,000& » 12& 5,580
204 AR A H| 1,200 1,200 0
01 ¥R 1,200 1,200 0
OXMZ R FH| 100,000& * 123 1,200




